Lattice Multiplication (F)

Use lattice multiplication to find each product.

9 7 3 1 4 9 9 0
9 9
0 9
8 3
5 9
9731 x 9085 = 4990 x 9939 =
3.0 1 7 4 3 1 3
1 3
0 2
5 6
4 8
3017 x 1054 = 4313 x 3268 =
6 7 5 3 5.9 2 6
9 4
2 5
3 9
6 3
6753 x 9236 = 5926 x 4593 =
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Lattice Multiplication (F) Answers

Use lattice multiplication to find each product.

9 7 3 1 4 9 9 0
8 6 12 /10 ] ¢ 3 18 18 10 ] 9
8, 11,737 9 46,1 170
0 10 710 710 7 3 18 18 10 /] 9
8, 0,0, 0, 0 o, 6 1/ 1|/ 0
75 12 710 ) g L2 12 710 /] 4
a2 6l 4 8 s, 21 1 11 o
a3 1 710 ) s 3 /18 18 10 ]
o s, s, 5|/ 5 o, 6 11/ 1|/ 0
6 1 3 5 5 6 1 0
9731 x 9085 = 88,406, 135 4990 x 9939 = 49,595,610
30 1 7 4 3 1 3
0o /T0 /To To 1 4 1 /10 10 10 ] 4
o 3, 0, 1|/ 7 129, 3, 9
0 10 10 10 1 0o /10 10 10 1,
3,070, 0, 0 4,8 6l 2 6
100 13 ] s 2 10 A1 6
1570, 5/ 5 o, 4, 8 6, 8
1 /10 10 12 7 4 3 02710 12 ) g
1217 0 4, 8 ol 2| 4 8|/ 4
9 9 1 38 4 8 8 4
3017 x 1054 = 3,179,918 4313 x 3268 = 14,094,884
6 7 5 3 5 9 2 6
5776 T4 12 7 9 2 13 10 12 ) 4
o, 4, 3 51 7 o0, 0 6l 8 4
L1 A1 10, 2 4 0 3 ) s
o0, 2l 4l ol 6 715 5,7 o/ 0
1 12 1 10 A 5 N8 A1 5
3,871 51 9 o0, 51, 8 4
3 N4 A3 A0 A 6 A2 0 1 A 4
16, 2 0 8 15 711 6, 8
0 7 0 8 g8 1 1 8
6753 x 9236 = 62,370,708 5926 x 4593 =27,218,118
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